Write as a decimal 100 + 75 + T005- 00307

Schofield & Sims =+

A milkshake which cost 43p was paid for
with a £1 coin. Which three coins

M_ental Arithmetic 5 Answers

The volume of a bucket is 1950cm?,
How many litres of water does it hold?

2 47 x8= 3B were given as change? JE0p . Ep_ap (Tem? = Tml)
43 f£72-{35p+63p) = £1.92 X 3 100-{8x9)= ot 2 A car travels 360km on 401 of petrol.
; 3ap P ‘ ‘ : : - OF pelit
2 Inthe number 30.632, how many times is How many kilometres per litre is this? ]
% 131-900ml= - ml 3501l the 3 marked y less than the 3marked x? . 1500 4 0085l= ml - gaml
. ' P : o 3 243 x15=3645
5 38-276= SO, L0 3 F”’?d the product of DX and V and write it 5 507x6= 2047 k
h e ; using Roman numerals. _hAMDL e Find & 243 =15
& 35% = 700 = 20 " = 20 97 . 100 = e
“ 0 4  Four children receive these amounts 6 £27+100=p 27p b 243x15
- 10 f : 5B, 66p, 45p and 50p. )
7. 7 gx100=4kg - I - 380 ;)m??ﬁ:ymeaf b 4P P S4p 27 650g + 0.5kg = . 1.15kg 4 The bill at the end of a meal came
. e e R : : g Se A,
& 743am.toncon= h min ) 4h T7min 1 5 to E.ZO'A’O' 10% was added as 3 o
' , - 5 A paddling pool contained 751 of water. 8 == % aw. = 5% service charge. How much was added?  £2.04
5s3mm - . 10% of it was wastec. Find in litres and -
2 TyoE oM v end §0e..... ST millilitres the quantity which remained. 9 2h 37min + 1h 33min = « sh igmin - ©5  Buses run atintervals of 18min,
Find the times of the next two
10 830gx5= kg 4.15kg 8 A ABC is an isosceles 10 75% of 30kg= = kg = 27kg  ShOg buses after 09:37. L 08sE
‘\E triangle. Find the '
1M 2 10% of £12.00 = angles at the base. M 3+5x2= i3 6 A In the
b 70% of £12.00 = \ 7 ABC 760 triangle
' ; & - SRS, S S 12 a ’|8p = % D]t £,| a ?g}%) ABC
2z oy ’5£ 7u0 ) . L .
12 Sof£1.08=£ 0,77 f § /4 ACB e 2 b 45cm = o % of 1m - b 45% /{309 find £ ACB
C ii{_....__..w_.i R C B £ BAC.
\
7 {1,2.3,6,9 18, 36} “: The mass of a 10p coin is 6.59.
_ N ' e . , \ X What is the mass in kilograms
Multiply the sum of 26 and 18 by 8. - ¥ i) Two numbers are missing from this 1 Write as a decimal 3085 thousandths. 3.085 of £20 in 10ps? 1.2kg
set of factors of 36. Which are they? 4 and _. 12 ) o
2 Decrease £3.50 by 20%. fz80 2 From the total of 83p and £1.06 take 70p. £1.13 ) ‘
: '8 A dog's mass increased from 40kg #8  Aline Gcm long represents the_\ d\;tance
3 /\ Find the reflex t0 47kg. What was the increase 3 Find the product of 0.6 and 9. 5.4 flown by an aeroplane. If the line is
‘ angle AQB. 3180 , i drawn 1o a scale of Tmm to 50km,
A mT ' o ) T a as a fraction - . 4  Find the total number of days in the find the actual distance.
A7 // b as a percentage? b 59 months of September, October and
- o November, -k 9 Follow this number trail.
B ‘9 Which is the better buy, A or B, o What number do you reach?
5 5 When a number is divided by 9 the
‘ ) X and by how much? ) . .
‘4 How many times is 0.7m contained . ) answer is 64 r 5. What is the number? 11 ] start at 3 — subtract 7 —
n 28m? B 1+ A Light 2509 packs of rice at 45p per pack add & — subtract 12 =
‘ ) B 2kg of rice at £1.60 per kilogram B by 4D & Three peaches cost 87p. Find the cost
5 How many days in 26 weeks? R, £ ¥4 9 b 9 . R of two peaches. . B8p 10 A rectangle measures 3m long and
- . - 10 o Find in centimetres the o ) : 70cm wide. Find its area in m2. 5 111 1
6 What percentage of Tkg is 550g? DR - . / H\\\ length of a diameter 4 7 What fraction in its lowest terms is
2 A
‘7. Find the time in hours and minutes N which is twice that of y & 800g of Tkg 8.5 v+ 11 Seven lemons cost £2.80.
from 09:40 to 13:25. =h __45min W the given circle. : - b 150ml of 517 b a What fractien of £2.80 wil .
_ } . three lemens cost? 87 |
8 Whatis the cost of 2.5kg at 18p per 3kg? . 30p - 8 How many times greater is 5030
- than 5.037 e AB00 b Find the cost of five lemons. b £2.00
2 What percentage 1 Atin of red paint costing £4.50 will . '
of the circle is cover 5m?. ' 9 a 20% of £8.50 a_i 12 Point Adsat(-2, 1).
& shaded ] a 36% | ‘b 60% of £8.50 b £ Wirite the coerdinates
- ' ) a How many”tgus rEUSt bf bought to 5 ’ . of its reflection in the y-axis
b patterned B2 b 1B % cover a wall Sm by 3m: B2 10 Approximate (the vertical axis). (.2
. i ) e :
¢ plain? I c 50% b What Is the cost: b £ e i a £1.095 to the nearest penny a £330 Y
10 Approximate 12 MM"“W 48 centimetre b 91501 to the nearest 31, b8 S ;
o o . cubes fit : . : ] 2
& 27.9km to the nearest kilometre a. . 2akm P %E exactly Into ! 11 0.5kg of grapes cost £1.50. Find the e R "
b 3.450kg to the nearest kilogram. b kg ilﬁg the bottom j cost of 700g. £250 - S it
Lo S i ﬂ,j? of this box. Find the area of T ! :
Z_O.tennis balls cost £8.20. T LM,«»’“"’V The box is ! 12 /4%\ the triang! Toem? _3 72 “1 —q B
Find the cost of five. o ey Tita T gam 5cm deep. ‘ E: \ e triangie. e L o - :
The ares of & fectangle is 30m?. How many cm cubes are needed to L .
Width s 2.5m. Find its length. 12m fill it? 240 T eem 0. 00 N




